[image: image1.png]19. a

s.t

4x; + Ix + 051 + O0sp + Osq
10x; + 20 + 15 =
3x; + 2 + s =
2x; + 2 + Is3 =
X1, X2, §1, 82, 53 20
x2

14
12

10

8

6

Optimal Solution
4 xy = 18/1, xp = 1571, z = 87/
2 proves
| ! I 5

¢ 51=0,5=053=4/7

30
12
10




[image: image2.png]THE TABLEAU

ROW (BASIS) X Y SLK 2 SLK 3 SLK 4
1 ART -4.000 -1.000 0.000 0.000 0.000 . 0.000
2SLK 2 10.000 2.000 1.000 0.000 0.000 30.000
3SLK 3 3.000 2000 0000 1.000 0.000 12.000
4SLK 4 2.000 2000 0.000 0.000 1.000 10.000
ART  ART .-4.000 -1.000 0.000 0.000 0.000 0.000

X ENTERS AT VALUE 3.0000 INROW 2 OBJ. VALUE= 12.000

THE TABLEAU

ROW (BASIS) X Y SLK 2 SLK 3 SLK 4
1 ART 0.000 -0.200 0.400 0.000 0.000 12.000
2 X 1.000 0.200 0.100 0.000 0.000 3.000
3SLK 3 0.000 1400 -0.300 1.000 0.000 3.000
4SLK 4 0.000 1.600 -0.200 0.000 1.000 4.000

Y ENTERS AT VALUE 2.1429 IN ROW 3 OBJ. VALUE= 12.429

THE TABLEAU

ROW (BASIS) X Y SLK 2 SLK 3 SLK 4
1 ART 0.000 0.000 0.357 0.143 0.000 12.429
2 X 1.000 0.000 0.143 -0.143 0.000 2.571
3 Y 0.000 1.000 -0.214 0714 0.000 2.143
4SLK 4 0.000 0000 0.143 -1.143 1.000 0.571

LP OPTIMUM FOUND AT STEP 2
OBJECTIVE FUNCTION VALUE
1) 12.42857

VARIABLE VALUE REDUCED COST
X 2.571429 0.000000
Y 2.142857 0.000000

ROW SLACK OR SURPLUS DUAL PRICES
2) 0.000000 0.357143
3) 0.000000 0.142857
4) 0.571429 0.000000

NO. ITERATIONS= 2

RANGES IN WHICH THE BASIS IS UNCHANGED:

OBJ COEFFICIENT RANGES
VARIABLE CURRENT ALLOWABLE ALLOWABLE
COEF INCREASE DECREASE
X 4.000000 1.000000 2.500000
Y 1.000000 1.666667 0.200000

RIGHTHAND SIDE RANGES
‘ROW CURRENT . - ALLOWABLE ALLOWABLE
RHS INCREASE DECREASE
2 30.000000 10.000000 4.000000
3 12.000000 0.500000 3.000000
4 10.000000 INFINITY 0.571429
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ROW (BASIS) X Y SLK 2 SLK 3 SLK 4
1 ART -3.000 -4.000 0.000 0.000 0.000 0.000
2SLK 2 -1.000 2.000 1.000 0.000 0.000 8.000
3SLK 3 1.000 2.000 0.000 1.000 0.000 12.000
4SLK 4 2000 1.000 0.000 0.000 1.000 16.000
ART  ART . -3.000 -4.000 0.000 0.000 0.000 0.000

X ENTERS AT VALUE 8.0000 INROW 4 OBJ. VALUE= 24.000

THE TABLEAU

ROW (BASIS) X Y SLK 2 SLK 3 SLK 4
1 ART 0.000 -2.500 0.000 0.000 1.500 24.000
2SLK 2 0.000 2500 1.000 0.000 0.500 16.000
3SLK 3 0.000 1500 0.000 1.000 -0.500 4.000
4 X 1.000 0.500 0.000 0.000 0.500 8.000

Y ENTERS AT VALUE 2.6667 IN ROW 3 OBJ. VALUE= 30.667

THE TABLEAU

ROW (BASIS) X Y SLK 2 SLK 3 SLK 4
1 ART 0.000 0.000 0.000 1.667 0.667 30.667
28LK 2 0.000 0.000 1.000 -1.667 1.333 9.333
3 Y 0.000 1.000 0.000 0.667 -0.333 2.667
4 X 1.000 0.000 0.000 -0.333 0.667 6.667

LP OPTIMUM FOUND AT STEP 2
OBJECTIVE FUNCTION VALUE
1)  30.66667

VARIABLE VALUE REDUCED COST
X 6.666667 0.000000
Y 2.666667 0.000000

ROW SLACK OR SURPLUS DUAL PRICES
2) 9.333333 0.000000
3) 0.000000 1.666667
4) 0.000000 0.666667

NO. ITERATIONS= 2

RANGES IN WHICH THE BASIS IS UNCHANGED:

OBJ COEFFICIENT RANGES
VARIABLE CURRENT ALLOWABLE ALLOWABLE
COEF INCREASE DECREASE
X 3.000000 5.000000 1.000000
Y 4.000000 2.000000 2.500000
RIGHTHAND SIDE RANGES
ROW CURRENT ALLOWABLE ALLOWABLE
RHS INCREASE DECREASE
2 8.000000 INFINITY 9.333333
3 12.000000 5.600000 4.000000
4 - 16.000000 8.000000 7.000000
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ROW (BASIS) X Y SLK 2 SLK 3 SLK 4
1 ART -40.000 -30.000 0.000 0.000 0.000 0.000
2SLK 2 0400 0500 1000 0.000 0.000 200.000
38LK 3 0.000 0200 0.000 1.000 0.000 5.000
4SLK 4 0600 0.300 0.000 0.000 1.000 21.000
ART ART -40.000 -30.000 0.000 0.000 0.000 0.000

X ENTERS AT VALUE 35.000 INROW 4 OBJ. VALUE= 1400.0

THE TABLEAU

ROW (BASIS) X Y SLK 2 SLK 3 SLK 4
1 ART 0.000 -10.000 0.000 0.000 66.667 1400.000
28K 2 0.000 0.300 1.000 0.000 -0.667 186.000
3SLK 3 0.000 0.200 0.000 1.000 0.000 5.000
4 X 1.000 0.500 0.000 0.000 1.667 35.000

Y ENTERS AT VALUE 25.000 INROW 3 OBJ. VALUE= 1650.0

THE TABLEAU

ROW (BASIS) X Y SLK 2 SLK 3 SLK 4
1 ART 0.000 0.000 0.000 50.000 66.667 1650.000
2SLK 2 0.000 0.000 1.000 -1.500 -0.667 178.500
3 Y 0.000 1.000 0.000 5.000 0.000 25.000
4 X 1.000 0.000 0.000 -2.500 1.667 22.500

LP OPTIMUM FOUND AT STEP 2
OBJECTIVE FUNCTION VALUE
1)  1650.000

VARIABLE VALUE REDUCED COST
X 22.500000 0.000000
Y 25.000000 0.000000

ROW SLACK OR SURPLUS DUAL PRICES
2) 178.500000 0.000000
3) 0.000000 50.000000
4) 0.000000 66.666664

NO. ITERATIONS= 2

RANGES IN WHICH THE BASIS IS UNCHANGED:

OBJ COEFFICIENT RANGES
VARIABLE CURRENT ALLOWABLE ALLOWABLE
COEF INCREASE DECREASE
X 40.000000 20.000000 40.000000
Y  30.000000 INFINITY 10.000000

RIGHTHAND SIDE RANGES
ROW CURRENT ALLOWABLE ALLOWABLE
RHS INCREASE DECREASE
2 200.000000 INFINITY 178.500000
3 5.000000 9.000000 5.000000
4 - 21.000000 267.750000 13.500000




